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QUESTION 1
Which two statements are true for Data Guard environments with mufti-tenant databases?
A. Different pluggable databases within a logical standby database may have different guard statuses.

B. The Data Guard broker automatically always opens the pluggable databases of a standby database after a role
change operation.

C. The Data Guard broker automatically opens all pluggable databases of a primary database a role change operation.

D. The CDBDBA privilege must be used instead of the SYSDBA privilege for connections as SYS to the root container
of a multi-tenant standby database.

E. A multi-tenant standby database can have fewer pluggable databases than the primary container database

Correct Answer: CD

QUESTION 2

You are licensed to use Oracle Active Data Guard

Which two statements are true after enabling block change tracking on a physical standby database?
A. it allows fast incremental backups to be offloaded to the physical standby database

B. It starts the CTWR process on the physical standby database instance

C. it allows fast incremental backups to be taken on the primary database.

D. It starts the RVWR process on the physical standby database instance.

E. It allows fast incremental backups to be offloaded to a snapshot standby database, when the physical standby
database in converted.

F. It starts the CTWR process on the primary database instance.

Correct Answer: AB

QUESTION 3

You have a Data Guard Broker configuration called Somewhere\\' as shown: Which two are true about the output of this
DGMGRL command?
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DGMGRL=> show configuration;
Configuration —-Somewhere

Protection Mode: MaxPerformance
Databases:

Nearby-Primary database

FS-Far Sync

Farout-Physical standby database

Fast-Start Failover: DISABLED
Configuration Status: SUCCESS
You then run this command:

DGMGRL= SHOW DATABASE 'Nearby’ ‘InconsistentProperties’,

A. A far sync instance cannot have inconsistent properties because it has no database.

B. It shows all properties whose broker configuration values for database Nearby are inconsistent with the broker
configuration values for database Farout.

C. It shows all properties whose broker configuration values for database Nearby are inconsistent with the values in the
corresponding server parameter file or the runtime values for database instance Nearby.

D. Any inconsistency reported is on an instance-specific basis.

Correct Answer: CD

QUESTION 4

A Data Guard environment has this configuration and these attributes:
1.

A primary database

2.

A Physical Standby Database named shdb

3.

The configuration is in maximum availability protection mode.

Then sbdb is converted to a snapshot standby database When two statements are true?
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A. Sdbd can still apply redo

B. The recovery point objective increases

C. The protection mode is lowered to maximum performance
D. The recovery time objective increases.

E. Shdb can still receive redo

Correct Answer: DE

QUESTION 5
Which three are true about using RMAN in a Data Guard environment?

A. A recovery catalog is required when RMAN is used to take backups from a logical standby database in a Data Guard
configuration if you plan to recover the primary using those backups.

B. Backups of archived redo logs taken on a physical standby are interchangeable with a primary.

C. Arecovery catalog is required when RMAN is used to take backups from a physical standby database if you plan to
recover the primary using those backups

D. Backups of control files taken on a physical standby are not interchangeable with a primary.
E. Backups of data files taken on a physical standby are interchangeable with a primary.

Correct Answer: BCE
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